6 FE HEHBIBEER (REHHERFIEESD)

HHER N
1 |=H0m 559 753
2 |=Fh 50 69
3 |&Em 87 101
4 |FmE" 43 65
5 |tk 40 57
6 |AlTH 30 37
7 |BEH 52 65
8 |XABEK™ 26 42
9 |MB+h 82 116
10 |&mmh 156 185
11 |B%m 26 45
12 |ERH] 24 32
13 |5=FIHT 4 5
14 |FEEFHE] 16 17
15 |ZZMHE 18 22
16 (db)I1Ad 3 4
17 | St 2 2
18 |=Fatt 8 12

HHER AR

19 |ALLE] 24 32
20 |KZH] 22 26
21 |EAkHT 23 32
22 | KA 7 8
23 |L\DHET 22 27
24 i) [H] 16 20
25 |Hh- Ay 18 23
26 |{&)I|E] 12 16
27 |0 17 20
28 |tEERHT 6 6
29 |AE#H 18 27
30 |3REFH] 8 8
31 |MU5+H] 71 93
32 | KAH 54 60
33 |=EM 9 11
34 |RIFRHE] 39 52

PN 142 151

et 1,734 2,241




